00 1(00000)

012000 T12
(000D0D0000:0000 160 02006/7/5(0))

ogoood
T12-1:000 (00000 2007/7/5(0)17:400 0000 0 2007/7/26(0))

00 00MakefileDOOODOOO0O (complex.c)D00O00000 (complex.in) D0 00000 (com-
plex.out)

00000000 (Do0o00o0ooO000oO0)000O0O00D00OOO0o0OUOOOOUbODOOO
ooboobobooobooboooooboboooooobooon

complex.in [J

1.0 2.0
3.0 4.0

oo

b08b0xx@tyy:~/T12/1$./complex < complex.in
000 a=7 (DOOOO)

a=( 1.00, 2.00)

000 v=r (DOOO0O)

b=( 3.00, 4.00)

a+tb=( 4.00, 6.00)
a-b=( -2.00, -2.00)
axb=( -5.00, 10.00)
a/b=( 0.44, 0.08)
b08bOxx@tyy:~/T12/1$




0000 (T12-1)
oooooo:

e J0IDOOOOODODOOODOComplexOUOOOODOODOOOOComplexODOODOOOO
obooooboooon

00000000000/
000000000/
struct complex

{

double real; /x0 0 */
double imag; /*00*/
};

/0000 Complex 00O 0O */
typedef struct complex Complex;

e JI00O0OO0OOODODOOOOODOON scancomplex O 0OOOO0OO00OO0OOOOOOO
U print_complex U0 U 0 scan_complex print_complex U0 O UOOOO0OOOOO0O

000dooooooooooooooooo000obo00oo0o00n addcomplex, OO0
UdoO0d sub_complex, O UUODOUOU mul_complex, DO UODOOOMONO div_complex
oboooopooobooog

e JO00ODOOOOODOOOOODOO

0000000000002000000000000000000000000 (double
O000)000 (deouble 0 0)000O00ODOOOODOOOO

obobooooobooboooooobooboooooboo 2000000400000
00000 (o0o00000D)00000000000 (DDOU0O0)0D0D0DO0O0Oo0Oo
gboooobobo200000b00000b000a0

mainJ0O0O000Oscantf DO OOOOOOONO

main00000OD0pritnf 000000000000 OCODOOOCOOOODOOO

main 0000000000000 OOO0O0O00O0OO0O0O0000O0000000040d
goooobgoooo

goboooooobobooooboooobboooobobbooooobboooboboooDbogo
gboobooooobooboboooooobooboboooooobobobooooon
ooo




U000000000000000d scan_complexO0O0:

e JOUODOOOOODOODOOODO
/0000000000000000=%/

Complex scan_complex();

e J0IDOOO0OODOODOOODOODOO voidOODOO

e J0UI0D0IDUDUDUDOUDODODOO (ComplexODO)ODODOOOOOO 20
000 (doubleD)O00O00OCO0100000O0OO0200000000000000O
oboooo

e 0 scancomplex 0000000000 OOO0O0DOO0O0O00O0O00O0COOOprintfd
ooooooooooooooo

0000000000000 0O0 print_complexUOOO:

e JUODOUOODLDODDOODOO
/0000000000000 00=%/

void print_complex(Complex 2z);

e J00 zUOODOUOUOODDOUDOODOODOODU (ComplexOOO)OOOO

oboboooboobooooobOoboObOveid0OOOOO

e J00 zUOUODUOOUODDOOOUODDUOOUOODDO(UOOOO)ODOUDODOOUDOO
gboooobobooooobobooooboobo 2000000000

e [0 print_complex 00000 0OOOOOOOOOON

e U0 print_complex 0000000000 O0DOOOODOODOOOODOODOODOOOONO
scanf 0O O0OOO0O0OOOOO




20000000000000 add_complexU00O:

e JOUODOOOOODOODOOODO

/x2000000000000x*/
Complex add_complex(Complex operandl,Complex prerand?2);

obooooboooocoog

— OO0 operand1 000000000 0UCOOOODOO (DUOOComplexOODO)ODO
OO0 operand1 0O OO0OO0O0O0O0OOO

— 000 operand20 000000000000 OOO (DUOOComplexOODO)ODO
OO0 operand2 000 0OO00OOOOODOO

00000000000 (operandl+operand2) D000 (ComplexO OO )0 OO0

U0 addcomplexO0UOOOO0OOO000000O0O0O0O0O00O00O0O0Oscanf 00 printf
goooooooooon

20000000000000 sub_complexUOO:

e JODOOODLDODDOODOO
/20000000000000%*/

Complex sub_complex(Complex operandl,Complex prerand?2);

gboooobooooog

— O00 operand1 0000000000 D0ODO0OOO (DOOOComplexOODO)0O0
U0 operand1 0O OO0OO0O0OO0ODOO

— 000 operand20000000000DO0D0OO0O (DOUOComplexOODO)0O0
U0 operand2 00 00O00O00O0O0OO0O

00000000000 (operandl-operand2) 00 U0 (ComplexO O 0O)0D OO

e 1[0 subcomplexUUIODOOOODDOOODOOODDOODODOUOOOSscant OO printf
ooopoooooooo




20000000000000 mul_complexU0O0O:

e JOUODOOOOODOODOOODO
/x20000000000000x*/

Complex mul_complex(Complex operandl,Complex prerand?2);

e JO00OOOOOODOODOOO

— OO0 operand1 000000000 0UCOOOODOO (DUOOComplexOODO)ODO
OO0 operand1 0O OO0OO0O0O0O0OOO

— 000 operand20 000000000000 OOO (DUOOComplexOODO)ODO
OO0 operand2 000 0OO00OOOOODOO

e JIUDOOUDOOOO (operandil*operand2) 0000 (ComplexO0OO)0OOO

e D0 mul complexUOUOOOOOOOOOO0OO0OO0O0OO0OOO0OOUOSscanf 00 printf
goooooooooon

20000000000000 div_complexUODOO:

e JODOOODLDODDOODOO
/20000000000000%*/

Complex div_complex(Complex operandl,Complex prerand?2);

e JOUODOOOLOOODOODOO

— O00 operand1 0000000000 D0ODO0OOO (DOOOComplexOODO)0O0
U0 operand1 0O OO0OO0O0OO0ODOO

— 000 operand20000000000DO0D0OO0O (DOUOComplexOODO)0O0
00 operand2 0000000000 Ooperand20 (0.0,0.0)00000000000O
00oooooo (00,00 000000000C0O0OO0ODOOODOOUOOUOOOO
goooo

e JIUDOOOODDOOOO (operandl/operand2) 00 00O (ComplexO OO )0OOO

e 1[0 divcecomplex U U D DOODDOOODOODDOODDOOONOSscanf 0O printf
ooooooooooon




godd
T12-2:0000

(00000 2007/7/12(0)17:400 00 0 00 2007/7/27(0))

00 00MakefileD 0000000 (vector.c)JOOOOOO (vector.in)JO OO 00O (vector.out)
judboobbooobboooubboooobbooobobooobbbooobOooUobo
oobobooobooboooood

vector.in
1.0 2.0 3.0

3.0 2.0 1.0
gogd

b08b0xx@tyy:~/T12/2$./vector < vector.in
vi="?

vi=( 1.00, 2.00, 3.00)

v2="7

v2=( 3.00, 2.00, 1.00)

vilv2= 10.00
vix v2=( -4.00, 8.00, -4.00)
b08b0xx@tyy:~/T12/2$




0000 (T12-2)
oooooo:

e 30 0000DO0O0O VectorUOODOOOOOOODOVectorDOOODOOOOODOOOO
oooog
/00000000000=*/
/3000000000000=*/

struct vector

{
double x; /*x0O0Ox*/
double y; /xy OO x*/
double z; /*z 00O %/
}s;

/30000000 VectorO OO x/

typedef struct vector Vector;

O0000O0000o000oOoboboOn scanvector OO OOOOOODOOODOOODOO
U0 print_vector U0 U U scan_vectorl print_vector U OO DODOODODOODOOO

3000000000000000 innerproduct, 30000000000 0OO0COOO
outer_product U0 U000 inner_product,outer_product U0 UOOOOOOOOONOMO

e JO00ODOOOOODOOOOODOO

gobobobooboobo200bobobobooboobooobooboob x000
yboiOzOO0OOOOOOOOOOOOOoo

0000000000000 000000000000000 2003000000 (Vector
00D0)0000 2000000000 (D0,doulbed)000 2000000000 (3
O00000OOVectorJ0O0)00O0O00OO0OOOD (OD0O,doulbed)00O00OO 20
00000000 3000000 (Vector00O0)0 (x000yO0O0zOO)OOOOQO
gbooooboobo200000000000000

oboboooooboobooboo3oboboooooboooonooonn

mainO00000 scanf OO OO O0OOOO

main 00 000O0pritnf O0OO00O0 Vector UOOOOOO0OOOOOOODOOOOO




JU00000000000000000000000 scan_vector 0 0:

e JODOOODLDODDOODOO
/30000000000000000000x/

Vector scan_vector();

e J00DOOOOODOODOOODOODOO veidOODOO

e J00I00U0D0DUDOODOODDOD 3000000 (VectorOOO)0D0ODOOOOOO
030000 (double )0 000001000000 x0002000000y00O0O3
oboooo=zOoOoOoo3ooOoooooooo

e U0 scanvector U0 UODOO0O0U0OO0O0OOOO0OD0OOO0O0O0O000D00Oprintfd
gboooooobooooooo

J000000000000000000 print_vectordO0O:

e JOUODOOOOODOOOOOO
/3000000000000 00000O0=/

void print_vector(Vector v);

e 0 vOIDOOODDDOOOUDDOOOD 3000000 (VectorOODO)OODOO

gobobbooboooboobgodobd,weid OO

e 00 vOOIOOODDO3000000D0ODODOOO(xUODOOyOODOzO00O)0OOOOOO
boooobooooooobooooboobooo 200000000

e U0 printvector UOUOOODOOO0OOOOOOONO

e 0 printwvector OO UOOOOOO0OOOOOOOOOOOOOOO0O0DOOscanf U
obooooooooon




200 30000000000000000 inner_product U UDO:
e JOUODOOOOODOODOOODO
/200 30000000000000000=*/

double inner_product(Vector operandl,Vector operand2);

obooooboooocoog

— OO0 operand1 000000000 OOOOCOO (3000000 VectordOO)
O00OOoperand1 0000 30000000000

— 000 operand2 000000000000 0OOOO (3000000, VectordOO)
O00DOoperand2 0000 30000000000

000000000 (operandiloperand2) 000000000 OOOOOOOOOOO
00 (00Odouble)000OOOOODOODOO

e [ inner product OO UOOOUODODOOOOUOOODOOOODOODOOscanf 00 printf

gboooooooboo
200 30000000000000000 outer_product U UDO:

e JOODOOOOODOODOOODO
/200 30000000000000000=/

Vector outer_product(Vector operandl,Vector operand2);

gboooobooooog

— 000 operand1 00 O0O0OOOOOOOODOOOOO 30000DOO)OOOQO
operandl 0000 3000000000O

— 000 operand2 00 O0OOOOOOODOODOOOO 30000ODOO)OOOQO
operand2 0000 3000000000O

000000000 (operandl x operand2) 00000000 3000000 (VectorO
00)ooooooooooo

U0 outer product OO OUODOOOUOLOOOODODOOUOODOODOOOOscant U0 printf
ooooooooooon




